SeatNo.: EnrolmentNo.
GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG. - DLM - SEMESTER- VI EXAMINATION - WINTER 2012
Subject code: 362901 Date: 01-01-2013

Subject Name: Advance knitting Technology

Time: 02:30 pm - 05:00 pm
Instructions:

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 (@) Explain with neat sketch the ‘Knitting cycle’ in weft knitting by
Latch needle.
(b) Draw any three basic overlap / under lap variations in warp knitting
Q.2 (&)  Compare warp knitting and weft knitting.
(b)  Draw and explain the features of Purl structure in weft knitting
OR
(b)  Draw and explain the features of Rib structure in weft knitting.
Q.3 (@)  Draw and explain Half cardigan structure.
(b)  Draw and Explain derivatives of Interlock structure.
OR
Q.3 (@  Draw Double pique structure and poplin structure.
(b)  Draw and explain Full cardigan structure
A4
N (@  Draw the guide bar lapping movement of the following warp knitted
structures. [ any two ]
Lock nit (2) Queens cord (3) loop raised
(b)  Prepare chain links for the above structures [ any two ]
Q.4 OR
(a) Explain yarn preparation for warp knitting.
(b)  Draw guide bar lapping movement of the following multi bar structures.
(i) Three bar voile (ii) Tulle
Q.5 Explain the characteristics and types of yarn used in knitting.
(@)  Draw and explain the Cam system for weft knitting.
(b) OR
Q.5 The details of a circular knitting m/c is are under:

(1) No. of feeders: 24 (2) m/c. RPM: 30 (3) Efficiency : 92%

(4) Cylinder dia.: 24 inches (5)Courses per inch: 46 (6) shrinkage: 40% (7)
yarn count : 2/40 Ne (8) stitch length: 0.21 C.M.

(a) Calculate the production of the m/c. in square meter per shift of 10
hours.

(b) Calculate G.S.M. [ Grams per square meter ] of the fabric

© Calculate weight of yarn required in kilo grams per shift
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